f?‘)/}{ll"\/L?T > I QPO ST “1-2.5 P CH £

'E ngﬂ‘”?“{zhl - zn:ﬂg'vﬂ%"
1. E(f?.‘ \BL FHIS ZYX ; for DEF ?
If the code for ABC is ZY X, what is the code ©) VWU
(A) VUT _ (B) WvuU (D) uvw
2. TN HwEa W I s | ( %
Find the dissimilar pair of numbers. (‘j’ {j
3 7
4 12 2 3 W10 =, — 2 12
412 B) =, — ye 90 D) <, ==
A = 7 ®) 3 16 s;[ . ™55
3. U aEas (S) U Eiﬂa$@@mﬂ£&m ' Hﬁ%& T H R R erea (g2rmT) O ava,
g (Rt gTETe) ST & | W@ fohe At (€1 ik
A plane intersects a regular tetrahedron in such ag¥ay that the intersection forms an equilateral triang]c
How many such planes can do this ?
(&) 4 ®) 1 .2 D) 3
4, itmERE NS | &, T e el 1ol E‘W%m‘&‘ 3R SR ey e 7 2 | e, ot
Fda? | Ted e R SITR ?
(A) W B) &% (©) mfr D) f&F
Four fri"ends are sitting in a row. Sam is to the 1‘181E Jf Tom. Amy is to the left of Tom but not next to hin
Rick is between Amy and Tom. Who is sitting at é' far right ?
(A) Tom (B) Sam C) Amy (D) Rick
5. 3T 800 3w wrahher @it o R sd T 920?{‘3?1%41 | JERT & wferera T R 2
Arun bought a cycle for ¥ 800 and then sold it for ¥ {Q}ZO What is his profit percentage ?
A) 10 ‘/(B/) 15 (YC) 20 (D) 30
6. Treforfam 3 & foram (site) Fraf ) .
Pick out @e pdd one fron'L,Jt_he following. 2
§ 2291030719
») 9. B) 3 © 17 D) 19
7. U AT & E ] | MU T TRETET R
byl ™ I §H o forg Frfefia 3 &
g Wﬁ.@ fere T g8 it straws
A fi
ﬁg;rg“fe is given. You have to identify which m{{&lg the following pieces is not required to make tt
€.
ﬂﬂ?aﬂiﬁﬁ / Given figure : {}a
‘ 0 i
® Y
™ p
2 V e Kl @ il E

___________________
-------------------
-------
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. pEm@TART 2

Find the odd one out. ()
G
v (o (o (B
(A B =(C) (D) %
4.'::. t 4
o, 2TE TS & X I iR (E'{"-f y
Find X j;rom _:t)le given series. ('. f’ “
64—? 5?’ 50, X’ ann G )
AR 36, \6
(A) 42 (B) 43 €) 44 (D) 48 '8
10, @ A FEA 1 e | & -0 BT 5° A e
Find the next number in the series. ) '
ULWLUS .
(A) 205 . (B) 210 (f_'_)(C) 220 AD) 215 Q
11, fege foekedi & & foram Seirg) By Afg) 2
(A) T (B) & L3O TSt (D) FhIt \7
Find the odd one out from the given alternatives. &)
_#A) Milkshake (B) Burger (O Pizza (D) Cookies B

© | 1 SLe
12. N\ " /| M y: B N CE:OO %?-

N

ﬁ%ﬁqwﬁwﬁﬂﬁmﬁaﬁg@wﬁmaﬂ?ﬁs{lmml | § :

Find the next figure in the above series from the options given below. : /l%g X | /d
| — | & f

y °
5fp

AN

o O -
| I ~ 11 IV % \Y
" v’ C) | I -ﬁ('
(A) 1TV (B) V E©) I & (D)
13. ool i Selt S I 1 BT |
Find the next figure in the series. . Y 7~
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14.

16.

17.

(1)

19.

\ % \
W A mfr g5 7100
] 7(? A [ \’.’ 1 £
4%t Yy (0, 9. /)
G5 0 4~
syer 3 & P (o) ) 3 Afdre | 48 2o 1o
Find the odd one out in the series. ()
B4, D16, F38, H64, 7100 )
; | )
(A) Ho4 ‘/_(B) F38 2 (C) B4 (D) DI6 f)‘f‘ p
o~ L oW
srhy 3 Figsit ot we A | W r/_,;".'/ai/-’/ /ﬂ’rﬁ
Find the number of triangles in the figure. ) 4
‘ R IR )
N 5 ® =
A
%
(A) 16 (B) 12 O 18 D) 14

@mﬂ@mﬂmmmmw%w wﬁmﬁsﬁﬁﬁaﬁﬁﬂm%l”mwmﬁﬁ

fore T HETE § 2 ()
(A) wfisT (B) el av  (C) W (D) wisht
Pointing to a man in a photograph, Asha sélti “His mother’s only daughter is my mother.” How is Asha
related to that man ? ﬁ)
(A) Nephew (B) Wife {:) (C) Sister (D) Niece
L
freffaa # & foww g -8
Select the odd one out from the following.
A 23, - . (B) 63 ©) 17 (D) 11

@m@mwwmﬁwmmm%mmmw%w%mm
3 v e i X

Study the following positions of a dice ancf determine how many dots are there on the dice face oppos1te

the one with three dots. w0
‘ ’ bﬂf )

@A) 6 B) 2 T © 4 D) 5

e e i A TR A g farIe A g 3 v 1 Y s ot 8 R 1 Forite oW et @ foR
TER g ? :

(A) 2@ (B) W () T (D) fom

Pointing to a girl, Vinod said “She is the daughter of the only sister of my father.” How is Vinod related to
the girl ?

(A) Grandfather (B) Uncle (C) Cousin ' (D) Father

-
- p———
- "'""‘*----—----____..._--_-.-.—-—_-.._-,----...--— -
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AT

T4 20@ 24 TTETIT TH

R : : ) ; u' bl 'wm:{ﬁﬂm
apydt @ ﬁw*mgﬁ.gﬁmﬁﬁ@mﬁwﬁmmmmmﬁﬁﬁmm o
mﬁﬁmﬁt%ammm‘mﬁmaﬁﬂmﬁmﬂﬁwmmﬁrmim f%g;%
wqﬁa%ta'n"f%.mﬁﬁ‘a%ﬁmqmlﬁﬁg@mﬁﬁwﬂuﬁwﬁﬁmmmﬁqﬁﬁ%mrﬁﬁa
m@a@wﬁ@am@_.mmmwmmalmwﬁmmsﬁ;m
e a1 S T, T ST A S Sy QR S sy o B A g e -
2. FeRfE i P P afd s

(A) o o9 = o =freht vecht 2, e Rk st S BT |

(B) S & oA Ty i wrr B 2 (L)

(C) 3 AR I et =T T | @)

(D) X 3 I Q- a7 |

21, f=fafed 3 & fre ise =1 and ey 219

(A) Fad (B) ffvaa (C) == D) TgH
22. A I ol 3Fa v R
(A) ®TYGT (B mﬁrﬁmo (C) AT R TEE ‘

23. B9 U A o HHe o 1 0 STeHTIYE Tdrtehd & 7
(A) FfeATT hi TelTE A 3
(B) 3194 foIm 3 oty o e it sk |
(C) Targamaum fir &1 wemr SR | &
(D) ST AT hY o7 GFort | @
24, HGEN hl gl : @)
| (A) TR AR ()

(B) FOXTAMIE |
(C) W IR =R ST & | @Eaﬁqﬁﬂﬁ’f%ﬁt

|
' 25, e SR § A a2
(A) A (B) dveE ™ (C) Q@ W (D) ™
l 26. ﬁn%%ﬂﬁﬁaﬁaﬁaﬁ%wwﬁﬁq:o
&Y T w7 e A o (B) @ T A &I A [T A= |
l © FHFreraaamaraEd O (D) 1 =AW T G T AR |
l
|

| P
2. ﬁmfaﬁaaﬁﬁwaﬁgrmw%}? | |
() sfFa_wew  (B) EM-IEHY)  (O) sgm-Tw (D) -
O
®

28, TOUHES HOHTER . s N
(B) e ©) weshfe (D)
B’ Y168 ST YT 168 TG FhifSIT :
| ®) T ©) T (D) Ry i
"""""""""""""""""""""""""""" PageSof2d
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e = 5 ¥ e L a5 Tl 0 I 253 el o FRIAA N2y B 2

30. “orfer fo= A are
(&7 B iR (B) gfevar it @it o e forefy o 4
() @ H A I (D) e o g
. (")
3. aﬁmﬁamw-grﬂﬁ?-m%? e
(A) QT{'_H'{ = W—Wm (‘f}(B) W—W = @H_mﬁ'
© F-T« = -V 6@ Feft-frelt = - g
@. e AR At R ? o
A) fawt B) @)(C) i (D) =
33. ﬁuﬁﬁq@ﬁﬁt{wﬁaﬁﬁﬁ%ﬁmﬁmﬁ%ﬁ%?
(A) O R (B) sAHa™ {)(C) s em (D) <z 1 ¥
a4 i 3 s =t bt W foheeft 2 7
(A) 53 (B) 50 " (© 51 .(D) 52
35, T T ST S H-ATR 2
(A) T ®) Tt o (D) 1]
36. T Fbe GHTE T STE R ? “
() o ama (B) ZEEAE ()(C) worfvmaama (D) T ETE
() s e & ‘
@) mETE @) é-g“” e (D) ST ST
4
18, frefiad i & Y A = A A | _
A) SRR T T T T E | @(B) aamwﬁa‘rﬁﬁmmu;ﬁmami
(€) TRt s Rt FAT AT &l by, - (D}Camﬁm‘ra?rﬁammémaﬁl
39. ‘ﬂnﬁm*ﬂ%%ﬁaﬁaﬁﬁawﬁmﬁﬁﬁmw%?
(A) W (B) A - f
(C) TG a et HArerd R C‘(D) G qH
0. FAHTaER: Y . -
(A) =T (B) #3q :;EJ;C) GISE (D) T
i Pt & g E AR A AR
(A) B —dER (B) &I - AT &;i'((:) ang - e (D) TR —Fete
42. ‘@m@a’ﬂﬁwﬁﬁﬁa’rﬁﬁaﬁmﬁﬂ?ﬁ%? {.__4
@A) 22 ®) 12 @) 13 o) 11
3. ¥ rm e e ? é;:ﬂj
(A) TR ®) (A (D) W=
44. ‘ﬁa’m%ﬁwm%:
&) s ®) = ©) THF O W
45, <IET HBA-AT A E ?
(@) FE (B) TN ©) a'g,a"ﬂ%(D) __ R
i S S Page 6 of 24
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46. (ME unﬁ?ni[ % o Wi Az e T sy e o o

(B) gﬁ'ﬂ%'nn (C) Tﬁf‘r@ ﬁ‘u O §
47. ﬁﬂ%‘ﬁéﬂﬂﬁﬁq T Y ‘\1{?’?‘“? 5 ) RETAT
) (B) = (C) W

- (1) e
48, ORIV SR W) e wae wd ey vy AW R

(AY STHE-HET-wi (B)  gdnr-uRaiy

C) Aae :
49, T I AT WY . t i B AT 1
(A) TETH @B) s 'm © R _
s0. R vyl ) (0} <
51, Freoiftas & ¥ P o e sy 0 {"}J (D)
(A) = ®) s Do —_—
52. e St ;a0 L) ) 1
A) Tefer ® )
( i ®B) el (c) Tes -~ (D) ed
53. a‘rmmﬁrﬁﬁa‘rs@rmﬁ%
(A) Hfe g (B) Hr= TR (y” gt D) dfer s
54, ﬁﬂ%@ﬁﬂlﬁﬁ%%ﬁﬂﬂﬁmﬂiﬁ%?
(A) erEwared o=t SN () ®) i
(©) ifed et g R | & (D) FewwRay
5@. ﬁﬁ%@aaﬁﬁﬁﬁmwmm\ﬁ%?
(A), TRl e & Heh, STT3W | E‘ae B) Ffemizwt)
(C) drar s fiar aedt ¥ W (D) T SeHT =T |
@6. gl & € = R A & e ew e % :
(A) WG : (B) oot & (C) Tea=rit (D) FAU
’.‘Efszwawi%x,Yaﬁrw%
2. X3YHIEETX YHEAR B—
3. XRYFIAFRX, YHUfa . @)
4. XSY®ITTX, YaﬁT‘IFﬁ% | — \[
ﬁm%ﬁaaﬁﬁ%aamwf%%nz HREER2 (" | L ™
1. X2Y means X is the sistér of Y ) . )ci 4
2. X3Y means X is the son of Y ' Q
3.  X8Y means X is the husband of Y tie T@—)
4,  X5Y means X is the wife of Y '{:}
Which of the following means that K is the mothér-in-law of H ?

(A) H812J3K5L (B) H315J3K8 (C) H21513K8L (D) HS513J8L2K

age 7 of 24
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9%
7oAl gg
Yyul

967
%GL'\ c ). U\‘\

L
&

——

8

If 987 is coded as 123, 741 as 369, then 26

§

afég’f??ﬁr 3,@9%mﬁmwm%ﬁzmﬁﬁmwﬂﬁﬁmm?

9 will be coded as :

2] Juy AC9 P
SRS SR,
L { q "), % )-Kb.

. @& sal- (B) 367 (€)) 840 (D) 356 |
59. aﬁ@%w@ﬁaﬁlsﬁm@ﬁmmia‘wowm Y 71l & AT HA Freft 3 oo
e Y 3 FofeT g T 2 ‘ Tz' T 3 1 600 Hiet T I
{ (A) 39 THS (B) 358 (&, 42 &S (D) 37 ¥F78
W If a train crosses a pole in 15 seconds, how long will it‘}téke for the train, travelling at a speed-of 90 km/hr
. to cross a bridge that is 600 meters long ? Q) ;
Gy 39 seconds (B) 35 seconds (CQ) 42 seconds (D) 37 seconds
60. 5.~VW%3T%|B;SﬁﬁTTBFrﬁﬁT%,aﬂtTaMmﬁm%@/,Rﬁag%l bt = L2,
- R p, V & foFg R Heled & ? ‘ IS 2 Bl
| @ = (B) ¥ (©) fomr © L6
F Y, S is the brother-in-law of V. P is the father of S and T, who is the father of M. V is the dau'g?ntef—in—law
—_— - of R.
How is P related to V' ?
- (A) Son (B) Father-in-law (&))) Father (D) Brother
&
61. qﬁm,fﬁm%aﬁf%ﬁﬁﬂmﬂﬁﬁlﬁﬂaﬁﬁqﬁ% I W@ﬁmﬁaﬁﬁ%ﬁmﬂa@ﬁvﬁqﬁ% |
frer e AR 8 ? 50
(A) =l ®) fer (Q T (@)
Namita is taller than Priya but not as tall as Madhuri. l@na is not taller than Namita but is not the shortest.
Who among them is the third tallest ?
(A) Madhuri (B) Priya (% Namita (D) Reena d
aagﬁtrﬁf\é% 120 3 el GEAT FE ? o U (Qfﬂ
In the sequence (;a, 6, 24, 120, what is the next number ? IX9
(A) 720 (B) 360 (C) 480 " (D) 650
i@t 6, 24, 60, 120, __ﬁmeﬁﬁwmaaﬁﬁm g2~ ‘[A
Find the next number in the series 6, 24, 60, 120, . O , cL N N
(A) 210 (B) 236 (% 216 24b7 1 (D) 218 —R
SR T 14 G| o | P
Find the dissimilar term. ?} \ L\
P49, T4, 264, KO9. |X‘ 'ﬂ
A) Z64 | (B) P49 (CF'K9 ., (D) T4
& % A 4L
g U HIT - ©) 54
SiaeIeT ; ST 2 7 2 A 6?(“ L\
(A) e (B) © T N \® T SgHTRTSE
Complete the analogy : ﬁ’"

Oxygen : Bumn : 9 : Extinguish
(B) Hydrogen

—(D) Carbon dioxide

(A) Helium
R, };Qg_éﬁ-o_f_z-[-_-___-“"-—_""“"_“"_"_"""""‘
G
X \ 9 b \
| |
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A

.,.\}-L q
540 I St

66. ST T I quhyrey X3
Which is the 13th 1, W R ey o it ferad & i # “_* SR w2y |yt e AR 2
backward order 9 cu m the right when yoy write the English alphabets in

Crto the left of the o' letter fro

A) 1
T 0 H 7 a ] & A9%
7. aR R TR 5 g (B) 1 E) . ms |2%24 S418
(A) TER e aﬁﬂﬁ“@'n,a}mqﬂ*'ﬁznE"f'@‘*?ﬁ-‘iﬁ:{amﬁquﬁ’q&g{?" Q"
(B) ®aw (R (D) FHAaT a0 VL2
1f Thursday will fa]] th AT o B Ol g
(A) Sunda on 5 of a month, then which day will fall three days after the 20" of that month 7 | |r.‘_:'_l_ﬁ_
68 ﬁagﬁ?a‘?);( (B) Monday (g Tuesday (D) Wednesday e f“?
° ’ ‘Y'ZaS,PWQ,@Wﬁa%ﬁﬁ@maﬁﬁlmwmﬁaqﬁ%%ﬁﬁﬁv%lP.YU =
' 18,

i S F A o T e - L )
3 pFEERTL %%Wﬁﬁwaﬁ%“‘; QR st 12, s FHawt s pmam 1)

. M
Sl;(thgﬂ‘ ls', XY, .Z, S, P and Q, are sitting around 2 clrchlar table. All of them are facing toward the centre
of the circle. P is not sitting between Y and S, but soffidone else from the group is sitting there. Pand Q

are opposite to each other. Z is to the left of S and right 9f P. Who is left of P 7

Aa) S ®B) X Y D) Z Q7 Y
69. aﬁﬁ%v&ﬁﬁﬁﬁmﬁﬁnmaamﬁmﬁmﬁwwi? %

(A) et (B) Il © T (D) wfEeft

If a bird flies from East to West, what direction is it flying in ?
(A) Sgutpern (8) Northern @ Easem (@) Wesemst D8

70. agwf; @,(\__ﬁqgraﬁﬁm oo .
: O = _
Complete the series 2, 5, 10,17, " - 924 M.
(D) 32 ]

_(A)26 (B) 24 (&% 28

; ; d
71, 27 FEGHI T FHT T xa@,ﬁ%ﬁm{@r%wé m?%mﬁ%%,a‘rxaﬂrrﬁm%?
: rice of x articles. If the profit is 35%, then the value

The cost price of 27 articles is the same as the selling
ofxis: &%) \ <
(A) 20 (B) 22 (G 24 (D) 18
72. @aﬁq‘faﬁtﬁaﬁtISﬁFﬁﬁlﬁT%,ﬁ?(q;gfﬁaﬁtg@,m%aﬂ(15%%@@%%%3@'&@
%|ffst€r15M%aﬁaﬁﬁ'#ﬂw%aﬂtquﬁaﬁ%mls%ﬂﬁﬁaﬁmm%lag:ﬂtﬁ
L gﬁfi}ﬂ;ﬁgﬁﬁﬂﬁ?\: fra R 8 2 o

()
@) 3047 Pt T
and turned to the left. Again after
How far and in which direction is

(©y 30-/2 il ST 3
rds North, then turned East apd, covered 15 km

A man went 15 km towa

15 km he turned to the right and covered 15 l§m to rea@the destination-

he from his starting point ? s

(A) 30+/2 km South-West ' (%; 30ﬁ km North-West

© 30\/:?- km North-East D) 30 ﬁ G South'F:":S_t
Higegd oo 0 AT
- e

(¥ Scanned with OKEN Scanner



73, T AT AT SR S-St Tt H nfal o) we farar & st fafiesr at i fregdem e mr o
ZAUED T o7 |

A N R B
T
el 50
N
‘ 72777 77 .
TR B Lsiiii i i ] 50 2014
. ,‘) 2013
777777, - 2012
TSI C o S s s e s a0 140
90
NN e 201
% }/}’66 | T T T _} T T
9~°\ 0 10 20 30 @40 0 60 70

' N ElEIEc
G+ wgﬁmrﬁa‘iaﬁﬁ@wﬁ2014ﬁﬁﬁg?nmwﬁmwmlmn%rﬁa‘fﬁqwﬂmm%ﬁﬁ
2 2012 # Rl a2 T T = R

(A) 65% (B) 40% () 33.33% (D) 80%
D\q’ \PThe given graph shows the number of villages ifffour different states where electrification was done in
5 y different years. s - -
, -t& _ | | | 2]
S N T R
tate SRS R SR LD AV K P e
:\
State B [iniiiiiniriiid il R AR Bl 2014
- [E2013
i 2012
/////A'//A’/A’///W//Y_ u
State C Footriiiimiiii iy 40
®
5]
o ////////////7//7///7///// 7
tate -I'I{-Z*I'I-I{'I-:-I-:'S'I-I{':'."
o 10 20 0 4 S0 60 70

Number q%i llages
B wher.e electriﬁg_:_g&ion was
tion was dorie in 2012 ?

(B) 40% (C) 33.33% (D) 80%

The number of villages in State done in 2014 is what percentage of the number
of villages in State D where electrifica
(A) 65%

s R ST R Page 10 of 24 s
- )2 A\ Sy
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(B

o TRV XIY ot 1 ~
(A) T PTHZ, X TR, 735 Foro, W TR 2 B
W i the mothr g B) wr ) (D) 7 1S T-,f;
(A) Uncle and Y, and Z is the husbahd of X, then what is W 1o 7 9 )/;: Jtl
(B) Mother-in-lay ! (C) Mother (D) Sister Sl
; Si 2

7, ERECINIG /
e Ry 15 19%};%&;@%{%@%?@?%3@3 : 4 2 SUTET ST S |

Find the number tj4 A
tmy 0 ;
@) 5 st be subtracted from the,terms of the ratio 15 : 19 to make it equal to 3 : 4. [9 E'

76, YA o I ey <y é{:—? ( (D) 4 9
ufia's Hooitisss 12531;3% 125% 3Hferes & | i e, ot 10 S =61 101 @ foe sefere 1 & 2 ﬁ'ﬁ
(A) 55.55% o more than that of Sita. Wﬁa‘ percent is Sita’s income less than that of Mita ?

4 o (B) 2.5% () 124% D) 22% % 1L

7/ gﬁﬁ%%ﬁaﬁwﬁ%wmﬁ (HCF) &1 AT 3 &, ot @ifm feriretes 2 e & afi
TR Teet & Sifm s smrer: 2, 4 affe 2 8 & | 57 31 St 3 qra ifore | '

When v‘ve calaflate the HCF of two numbers by long division method, the last divisor is 2 and the._l-g-—a—
successive quotients from first to last are 2, 4 aFcBZ respectively. Find these two numbers.
(A) 12,16 (B) 18,40 G (©) 16,20 (D) 20,24 o

a‘riam@ﬁqﬂaﬁmﬁzgm;qaaﬁmsﬁﬁ'ﬁ%ﬁawﬁaamﬁmmmweﬁmnﬁfaﬁr 99

wﬁm@aﬁsmmﬁmma@%ﬁmﬁWﬁmmm| 71/_2
Es

(A) 904t ~(B) 85 * (C) 1007, (D) 110

= 2%
Two trains are moving in the opposite directions.at 29 km/hr and 25 km/hr. The faster train crosses a _ie?

in the slower train in 6 seconds. Find the length &_3 the faster train. 222
(A) 90m (B) 85m = (C) 100m D) 110m 3 = 2XL (g’
79. T53.240FrTRIZATH 10% SFFaTE SATST (ATfiieh G3fifr) RS | g e ? 2 -

A sum of T 5'3,240 is accumulated in 3 years at 10% compound interest (compounded annually). What is g S

the original amount ?
&) T30,000 (B) ¥20,000 (C) %40,000 (D) %60,000
80, i AT i i A ST (0 S%W‘Wﬂﬁaﬁﬁr‘%wﬁiﬁaﬁﬁﬁmmaﬁaﬁaﬁ
S g 11, et st A ol AR g () e &2
o - nthly income (in %) of certain a@ibultural workers

The average mo : : '
number of agricultural workers is 11 times that9f other workers,
4

"fa”th‘;wc’rkerm: _S+11T W S+T 11S+T /}fw
gafiean ¥ | 75%mmaﬁﬂaﬁ§am},ﬁqﬁaz%qaaaﬂmw | T IHIEER T 9261

8l. TH aar
aﬁzg%sﬁﬁﬁa‘?aﬁm 75% & | ﬁﬂmﬁguﬁmﬁﬁ@u@mﬁﬁfﬁml
3 ' out of which 2% of the votes

There were two candidates in an election. 75% of voters cast their votes; .
id. A candidate got 9261 votes which were 75% of total valid votes. Find the total nurnbe_r
73

is S and that of other workers is T. If the
then the average monthly income (in ) g‘

were found invald |

of voters enrolled. i

(A) 26,600 (B) 11,600 (C) 16,800 (D) 16,505 _ E—— y

Higga T T v e A ey Rur sl 3
2% \ joo— 7S -2 1 55‘@.9 S _
%0 y' _2:_-{@"'(.:?:._ 3%} ,52-'/—‘;(‘}06 --'5"0(\@ )E/

1 a3’/ As 5

_L ]
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82. 250, ﬁaﬁﬁwwm@?ﬁ(qﬁmwé|m
%luﬁ:a’nﬁnﬁrmﬁm‘?mag}amwﬁnﬁmwglmmmﬁ :;ff;ﬁﬁm ®, i st s ey

&k ST & 2 A et
(A) 950, (B) 1000 =, (C) 850, D) 700

A thief is spotted by a policeman from 250 m. When the policeman starts chasing, th . hi

running. If the speed of the thief be 16 km/hr and that of the policeman be 20 kmfi’ he sk
thief have run before he is caught ? () R
(A) 950m (B) 1000 m © 850m (D) 700m

{ }

83. wﬁﬁmﬁﬁwr&a‘rfrl:ﬁwqmﬁﬁ%aaﬂwwmsﬁmﬂﬁ :m:ﬁaﬁtﬁ%mm £
B T | TR IEH ST 2 T A ST R | ot 5 T B T it e 5.0 R

A cricketer had a certain average of runs for his 64 i Inmngs In his 6@ inning, he is bowled out for no
score on his part. This brings down his average by 2 runs. Then what isthi new average of runs ?

(A) 168 (B) 130 (C) 128 ® o 170

- 84, T SIS SodlS AT (AT TAT) Y 10% TR E 4,840 B S el e Tl @ antt 2

What is the sum of money that becomes ¥ 4,840 at 10% rate of compound interest (compounded annually)
after two years ?

N flSOO (B) %4,000 (C) 4,500 O (D) 3,400

*

85. X 3R Y wh s s 12 Rt af 18 Rt F qu g € ﬁﬁ@ﬁﬂmm%méﬁﬁﬁﬁ
%mYﬁ@mwaﬂtx%mﬁqwﬁ@ﬁm | g e foe R o g g o 2

(A) 15 fe ®) 10 ©) 18fF g; D) 38~ﬁ=r

X and Y can complete a work in 12 days and 18 days respectively. Tpﬁy started domg the work together
but after 4 days Y had to leave and X alone completed the remamm@fork In how many days was the
whole work completed ?

15 : 28
(A) — days (B) 10 days (C) 18 days (D) — days
3

86. UF JhaK 40 ﬁﬁﬁ@mmﬁ%mﬁwﬁmm% 3R 25 gﬁﬁaﬁﬁa’lﬁﬁm% | 24 Rt % =@, T®
w%%%ﬁ@ﬁaﬁaﬁﬁﬁ% | ﬁaﬁmﬁaﬁfﬁamﬁﬁgﬁm?ﬁqﬁ% 4 o7 vt
A H qEH w2 _

60 D (D) 75T
(A) 70 &9 (B) 100 3& © 0T %
A contractor undertakes to make a tunnel in 40 days and employs 25 mgx. After 24 days, he finds that only
one-third of the road is made. How many extra men should he empla )so that he is able to complete the
work 4 days earlier ? |
(A) 70 men (B) 100 men (C) 60men @ (D) 75 men

-------------------------
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87.

88.

89.

90.

91.

92.

93.

9.

, kil
I T 10% Yy T 1 20% e &, P Pt e s s o e gz vy

|
ﬁa@aﬁﬁﬁq%“aﬁ%ﬁﬁﬁﬂmz arferar 3 e &, Rt 259, = ey st wren 2 | s
A trader sellg one ite a1 ?

. m .
de_’“’efy and Packagin t"? a retailer at a 209, discount, but charges 10% on the discounted price, for
price had the trader mﬁk he retailer sells it for T 4,092 more, thereby earning a profit of 25%. At what
(A) ¥18,600 ed the item ?

qmsqﬁﬁar@w a'%200(B) ¥ 19,400 (C©) T 19,000 (D) % 18,000

BT T T F R °*f€rﬁfqrém|wﬁ?g)§ﬁfI,ZOOﬂmﬁ%?m,?haﬁS%mmmmq

A man- sold an article at a loss of 20%. If he ¢ ﬁgid sell it for ¥ 1,200 more, he would make a profit of 5%.

What is the cost price of the article ? ‘e_.‘;’

(é\) fs 7,800 B) % 4’760 ‘é.}j»- (C) T4.800 (D) T4,850

2°x3°x 5%, 2* % 32 x 5 %57 T T (HCF) T AT

Find the HCF of 22x 39 53, 24532 x5, & Gl

@A) 2x32x9 5 St ‘én; © 22x3¥x7 D) 2*x3°x8 25

90, 128, 144 1 Taw THIGae (LCM) 16 shifore |

Find the LCM of;a!:,ql 28, 144. {.’:6-57}( \m
(A) 5764 (B) 5758 (C) 5760 (D) 5762 <

' i % I i LR CIED
gfeRal aﬂw—aﬁﬂﬁmiaﬁﬁ:ﬂﬁﬁ@aﬁm AT FT 65% ST b ®9 H e
?ﬂ’(aﬁaqug arso*%wa‘i%wﬁﬁam%|a’rq3@rarﬁﬁ§n§amm,a;\a’taﬁ%q§am@rw§r’
FAIEAR ? ~ _ tga
- e the extent of 65% of his 12 _

The total emolum tw ari am ne gets allowances to

ents of two persons are the game, but one ge . : : ’ .
ey ; 1thc other gets allowances to the extent of 80% of his basic pay. The ratio of the basic pay of 4]
n X ‘

basic pay a N
the fofmer to the basic pay of tl;eﬁ la;tgr % 1 ©) 5:4 (D) 7:5
. . (® l6: = : 3ifrd e T
(a) 12:11 7 1 e & | i Gl o s T TR 44 T AT AT & 1 G 7 S
T 3ifde e T 20% TR O) .

Hifre | = _ s o |
e, drmd %30 0% on the markédprice. He still has a profit of 44% on the cost price. Find 9 €}

A trader allows |15 at the marked price.

the profit % iS5 g g0 ©) 63% (D) 8% o
(4). 49% ﬁaﬁ,q-qgamﬁ’rfs,lzsﬁ@au&ﬁ@qﬁyaﬂt@ﬁ@m%l“ﬁ‘ﬁﬁﬁﬁ%

o AR AL &l v

@m;gﬁaﬁ 20 1 Bt TS | wﬁmaﬁaﬂaﬁﬁmﬂsﬂ“m%’ﬁ“ﬁ
A I

framT T ? il £%5.125. He sold the horse at a
i il . . 2 man buys a horse and {.damel for a total amount 0f T3, : oo then the
At a village Otrad:dfﬁ:; camel at a loss of 20%.{F he had sold both the animals at the same price, then ;
profit of 25 f/:h Z cheaper animal was : () (D) 2,500 q X
cost price 0 (B) ¥6,900 ~B (C) ¥8,500 ’ — @
(A) B200. 3 e rl PraTaTed e g2 7
g st e i i 3%? i i %ﬁ"fi ce for disaster risk reduction
Which organization is responsible for providifg guidelines and assistan

ich org : o Ve,
worldwide ? & (B) WTO (:J (C) WHO ____-’___(l_)_)_ _Ifl:{[-)li.}’:—__"__;_[_ ______
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g5, < wxy ity ST e e feret R 2

() dRAgREE  (B) e (C) 3THE 3feh (D) iy e

Who authored the book, “An Era of Darkness” ? ( J‘ _

(A) Pandit Sunderlal  (B) Christopher Bayly ) Asaf Ali (D) Shashi Tharoor
06, G20 3TN 4G FEF R IA R 7 o

(A) SR (B) ¥ ?) T8 (D) 7

What does the letter “G” stand for in G20 Nations ? ('3

(A) General (B) Great ) Good By Group
97. éﬁr&-wﬂmﬁm@wﬁmmaﬁﬁmw -

(A) S g ®) W ) ST (D) Uriers

Fieldwork-based research is classified as : _

(A) Biographical (B) Empirical (C) Experimental (D) Historical

el e :

98, d wrgufa <. Hoqel M i LAY, (@) T :
~(A) E@@Wéﬁ%ﬁﬂ@m (B) W2 el & fashrd % forg T Hisd
(@) o T a7 g e

(C) TrEdr-amHT @ Y& HET
Abdggl(

" The PURA scheme by the former President Dr. alam refers to : N
(A) A Plan for Urban and Rural Areas ) A model for the growth of the metro cities

(C) Providing Urban-Rural Alignment ¥P) Providing Urban Amenities in Rural Areas

09,  STSTT T HR ST I TS - E 2 it ,
(A) e (B) TSTEAH @) wenr (D) TR
" Which State is the largest producer of bajra ? O .
(A) Haryana (B) Rajasthan @) Maharashtra (D) Gujarat
100. mm%@mwm%%ﬂﬁﬁﬁw%? |
(A) BTIH (B) BRI (C) Teiee (D) T&K
The Narora Atomic Power Station is located in which district of Uttar Pradesh ? .
(A) Hathras (B) Hamirpur (C) Bulandshahar (D) Hardoi
101. qgﬁé@%n@ﬁﬁaﬁﬁaﬂﬁmgww%? &2 o "
(A) dfewfelT (B) ¥ ) B (D) T
What is the official currency of the United Kingdom(:{)
(A) Pound Sterling =~ (B) Yen é@( Dollar (D) Euro
102, TERE T ? . o
(A) fr < gTEEe Biedl €
(B) g i 7 faferToT Icafsta 3T STaR ],
(€) S el SHATHES 1 7T Hl &
(D) e it afferioT SIS @ ®
What is Greenhouse gas ?
(A) Gas that releases hydrogen
(B) Gas that emits and absorbs infrared radiation
(C) Gas that absorbs carbon dioxide
(D) Gas that releases oxygen _ :
S S i SRR I v T
* uk
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103. mqﬁﬂﬁ%ﬁ

The identification nyy, A & Wy (4

1bL‘.l‘ ’- r
104 W(A) GET%HSTIN (El)\c'(l‘lst?lf:vc"y registered supplieris
. In which yeq??qwmaﬁﬂgﬁﬂg? B vl
ar wa
(A) 2016 e Cyl()](;; Surakshit Bharat Initiative launched ?
i 2015 '
105. ﬁgﬁzﬁmﬁ%mﬁ P sm:r%?(C) 2017 (D) 2018
e " \:Ellg B F
Which day is recogniz, " lgm {k"')(":) 21 Rt (D) 147K
(A) 11t Tuly ed as International Day of Pédce?
B) 19th Dy a1
106. “'“'Eﬁqg@'”‘%mwgﬁiﬂﬁu% g,g(c) 215 September (D) 14" November
(A) HETEd S e ;
w1)1 _(B)” gfearieht {}(c) arfera mieft (D) TR TIg
" o was the first female Prime Minister of India @) | :
(A) Mayawati (B) Indira Gandhi  (J(C) SoniaGandhi (D) Sarojini Naidu
107. FrefaRad 3 & e wwa & ged e @E w1 @i € 2
(A) TS hifshed UE Hiéamgsd fafiee (B) FRIHEA T fafies

(C) Eiea wnid Bidemesn wreimmies fafice (D) Wézmﬁalsﬁﬁ@%ﬁm%ﬁ%a
Which of the following is the largest fertiliser producer in India ?

(A) Rashtriya Chemicals and Fertilisers Ltd. (B) Coromandel International Ltd.

(C) Indian Farmers Fertiliser Cooperative Limit (D) Gujarat State Fertilisers and Chemicals Ltd.

108, ST SR GETT S 9 A g 2 et
©*B) 103, 1993

LAY 10 TG, 1993 o
(C) 28 T, 1993 @ (D) 12 fods, 1993
The Protection of Human Rights Act came into fo% on:

/@) 10 July, 1993

th
A) 10 October, 1993 "
@(D) 12th September, 1993

(®) 28th September, 1993

109. mﬁmaﬁsﬂa@ﬂﬁwm S Sk DR R .
(A) 3T ®). fphw (C) =¥ RSESEE
The cashless economy in India has been amplified,

(A) Banking sector crisis ~ (B) Demonetizatiog}} (C) Swachh Bharat

110. mwwwzﬁ‘@?ﬂm’%m . SaTe ?
' (B) = dfedr 5% arfE (D) W

.an text is known as the ‘SCient:é}af Ayurvéda’ ?
(A) Mahabharata (B) Charaka Samhita E)(C) Arthashastra

11. mﬁm%%wﬁmﬁwﬁﬁm%? | |
(A) TTedE 246 ® sy o) g (D) I 245
{ panchayats ?

the Indian Constitution provides for the establishment ©

ith the Indian Government’s initiative of
(D) Digital India

(D) Manusmriti

Which Article of i
(A) Atticle 246 (B) Article 243 © Aricle2s0 ) i PN
]__-l:r_zl,-_-2_4_ ------------ Page 1-5- (-}f_' ia o)
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112, faeg R #) fva i s Ray A wg 1f 1 St R

(A) 19 S0 (B3) 1630 (C) 25 ursk ra—_—
Which day is celebrated as World Meteorological Day ? '
(A) 1o January (B) 16th April (C) 25" March (D) 23 March
)l Bed s aa
\__ SAC code consists of ___ digits.
(A) 10 (B) 4 ©) 5 o'
114, ST 3 oG qOW° o W A fohw ST STt o 2
(A) WA e (B) ) varsteet 5
(C) TIER TEeTyTE 9o (Dl')'ijmﬁﬁm

Who was known as the ‘Iron Man of India’ ?
(B) " Jawaharlal Nehru

(A) Bhagat Singh
(&) Sardar Vallabhbhai Patel (D) Subhash Chandra Bose

115. ya I Rw A d e add wararymdd? ()
In which year did India gain independence from British ryle ?
(A) 1964 (B) 1945 (G))1999 (D) 1947

| 116, 1997 3 31aaTE S Forer il wiftr ohr SR TR SR 3 IeTe, SR ST ST Bl HTH AT 8 ?

(A) e SRR e (6 gse )
(B) =TI G-t wr (e A sA)

(C) S ehRm geH (s ) (9
TRHTO] ST Efer (G ) hp

Which international treaty, adopted in 1997, aims to-eliminate the production, stockpiling and use o

chemical weapons 7 ‘- )

(A) Chemical Weapons Convention (CWC) 1

(B) Comprehensive Nuclear-Test-Ban Treaty (CTBT)-}

(C) Biological Weapons Convention (BWC) fﬁ)

(D) Nuclear Non-Proliferation Treaty (NPT) :
ey afv i i At e e o g T 3w A fida 2023 oy ifirer fofam a2 2
(A) REamEdHe  (B) Wi AgAHR (0)))feram sre (D) e = RiE

Who was nominated as the Ambassador for ‘War Against Waste’ in Jammu and Kashmir

September 2023 ?
(A) Vishwanathan Anand (B) Sachin Tendulkar (C) Vidya Balan (D) Captain Bana Singh
118, T TEE 1 AE FE 8 ? ()
(O)» feafirs weetwmr (D) W Heerwur

(A) DNAWR®  (B) wfa?cng:f
What is the main function of ribosome inacell ? ()

_(A) DNA replication (B) Energy production (C) " Lipid synthesis

! _

ey s i 2 e e T & 2

(D) Protein synthesis

119. it faor Ty s & sigAT S femrEm e 3 fe
(A) Ffe faem (B) FRFEER (¢ steem (D) ferfeer steam
The distribution of mangroves is mainly found in which of the following parts of the Andaman am
Nicobar group of islands ? 1R))
(A) Little Nicobar (B) Car Nicobar (C) North Andaman (D) Little Andaman
1 2 R B3 7

1
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120. NOAA T HaeTs @ -
(A) T VTR 3R ampriecti o .
(B) Wﬁmwwﬁéﬁ e T T
(©) ﬁmﬁqﬁ & b il Iieh IS @\ﬁ]ﬁ”tﬁ@ﬁ@ﬁ)
(D) S & ey vl vafer @sméa@%m Tt el
NOAA stands for : .1} N )
(A) Nat}onal Oceanic and Atmospheric Admir@?-aﬁon
(B) National Oceanic and Atmospheri =
pheric Association
(C) No Organization At All o
(D) National Office for Arts Accreditation ®
121, -61 T T =Tt ot o e & 2
(A) W e (B) dfirerg (C) I (D) ¥
Which Indian State is the leading producer of tea ?
(fA) West Bengal (B) Tamil Nadu (C) Kerala (D) Assam
122. T TG L& TR A vy 2 7 O
(A) WIEHH ATCH-JEH ehl TGTaT AT o (B) At = fafafia wer
(©) it e e fe wer - O (D) Sieffia ifr ST G ST T
What is the role of the United Nations Security &Suncil ?
(A) To promote cultural exchange {} (B) To regulate global trade
(C) To oversee international humanitarian aid @ (D) To maintain international peace and security
123, i, Faer R 3 e 3 ST et & o 3 forg et s 6 2
(A) UAPA B) PosCo s (C) MISA (D) DIR st
In India, which Act provided the framework to deal with unlawful and terrorist activities ?
(A) UAPA (B) POSCO Act (C) MISA (D) DIR Act
124, ‘SaTHfT & SHF’ ¥ o i RRl ST ST E ?
(A) TR (B) IR (C) I (D) TS
Who is known as the ‘Father of Geometry’ ? O :
(A) Pythagoras (B) Kepler e (O) Aristotle (D) Euclid
125. Wwwﬁ@ﬁﬁwz@mwmmﬁmmﬁmww%?
(A) e gaTfad FET 2 (B) SRS AT 3 sl HTAT
(©) et AT (D) I AT F
What is the primary benefit of using analytics to@ in social media communication ?
(A) Editing content O'© Blocking unwanted users
(C) Measuring performance 3 (D) Scheduling posts
126. agm%sﬁaaaﬂaﬁaaﬁh%mwcgaﬂtmﬁmﬁmr@m%ﬁm%ﬁmwm
3T FLHI W fepar ST 2
A) FEqH (B) WHa o (C) A (D) ST
is money that is earned through legitimate means and is accounted for, for which income tax or
other tax is paid.
D oy (®) Wilismawy 0) Olamey o O P
B ket e S e T

(¥ Scanned with OKEN Scanner



127.

128.

et a0 S (SR i e vies 7 aiar & B v frelt of amad Fr e 8 2
(A) TVRTSY B) "fyye-dr= (O EIEE il (D) 'i‘ﬂf?i';f?ET |

Which term in the Preamble of the Indian Constitution signifies that India is free from any external

control ?
(A) Republic

e A freffa # & FH-87 ToT S 3 e & o e R 8 ?

(A) TRETE Hl TSR (B) el AR TBR

(C) T &1 UK “y (D) WTeTal & 981

Which among the following plateaus in India lie lagtween the Aravali and the Vindhya region ?
(A) Marwar Plateau (; (B) Chota Nagpur Plateau

(C) Deccan Plateau c (D) Malwa Plateau

(B) Sovereign (C) Socialist (D) Secular

129, Grerer HifeaT i i TR VT 1 AT A T 7 {q,

(A) 3Tdifesd e i sleh FHEAT ®
(B) T U &M G

(€) wﬁza:n:n x
(D) 327 BAT T T o =9, a@maﬁ%ﬂ
What does the term “content curation” refer to in social media ?

(A) Blocking unwanted content
(B) Deleting old posts
(C) Creating original content

(D) Selecting, organizing and sharing relevant content from other sources

130. ffafeE i @, Rt Ferferca & shifa < dl, zsragjs%ﬁmw%

131.

(A) S A (B) E TR

3O SRR (D) TP

which revolutlomzed-medlcme, is attributed to :
(DY Robert Koch

The discovery of penicillin,
{ (C) Alexander F leming

(A) Jonas Salk (B) Louis Pasteur
T — wmﬁmﬁmaﬁmmmnﬂﬁ%? @
(A) o ST S T ST A HT

| (B) qefe 1 ST &l G

(€) qﬁaﬁﬁnﬁﬁﬁm‘r#ﬁﬁaﬁﬁm

(D) ST AT i A

What is the importance of India — Russia Annual Summit ?
(A) Strengthening strategic partnership and defence cooperation

(B) Promoting tourism

(C) Regulating cultural activities e
(D) Reducing trade barriers e;‘j
¥
132, Wi e g | )
aTed ; 9T :: faw 2 ? 3¢
(A) It LBy W & (C) w (D) e
Find the related word. @
Prime : Composite :: Odd : ? ' ~
(A) Tnteger (B) Even C)(c) Positive (D) Rational
______________________________________________ R R DS O £ S Mo S
HTZ-24 Pagg% 18 of 24
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133.

134.

135.
136.
137.
138.

139.

140.

i Page 19 of 24 40 oD &
. Y

formferfad s &, sy %
W%ﬂaﬁaﬁraﬁnw&mw%wwmmﬁwﬁmﬁf?:u,rrq-?, | 37 & o 9 ) F T
AT TR« v T} ST ST W | 39 975 T eI |
- MATHEMATICS”
In the fOIIO\VinﬁéQI- . , .
word. One of th ton, you will find four a@djnonal words provided as alternatives alongside a given
. ese words cannot be formed usingthe letters of the given word. Identify that word.
Given word : “MATHEMATICS” O
(A) THEM B) MATH, .2 (C) MATE® _(DYMATTER
RIGERUETIS - ?_L o - = g
ol ; e I A
o A 12 I &) |
) ®) ¥ ( © Ty ) WED
Complete the analogy : @3)
Dog : Kennel :: Lion : '
(A) Tree (B) Den (C) Shed (D) Burrow
7 Teea F1a i <71 s frg (2) 36 I 9T 3T |
Find out the alternative which will replace the question mark ™.
243 :23%::621:7 ¢ ) 4
) 122 - ®) 212 o (© 6 ©) 61
af p@q=pP+ 2+ p#q=p2_qzﬂ2p§§, HFO@D#4 FAATL? i
If p@q=p>+a>+2pq P#A= p2-q?- 2pq,§{§hat is the value of (7@2)#47? U\
(A) 5897 (B) 568 @ (C) 6480 (D) 493 N 1$
aj@wﬁ@nqamﬂaﬁﬁq L -
Find the missing term in the senes; - &)
A5 A4CE, A3DG, __ )

. A2EI "
(A)-A2F1 (B) A2EF (C) A2ZEG (D) 2 .y —— (S
b B 82 B
Find the }ahmuinbcrm ¢ given series. ’ _ ) 42—

lﬁiu £-40765,7 ) D) 101 3
@A) 90 ® 95 g © 1 m; I
i ECERRY g UK
@ 15 rﬁaaﬁ?ﬂﬁaﬂ?aﬁ?ﬁiﬁfaﬁﬂsﬂ%iﬁgzmﬂaaﬂtm s el fig & e
s RaTAE? . .
A) 23 I &b @) 25 Hexaioaem
Ec; 26 Het T @ () 20T sl B
Anna walks 15 meters soulthE ;hen turns right anﬁzi)valks another 20 meters. How far aﬂ; l; which iilff—‘cfi_m
is she from her star;ng poin @ ®) 25 mé (ers south-west ‘ ) 5
(8] 2 DHPBT (D) 20 meters south ) o
(C) 26 meters nort _ 20
A 3 ST g 14 I | 2 .20
Find the next term in the sequence. A0 1< ' & (?_
AB, ABB, ABBB, ABBBB, ? <
s it K ol © ames . QAR
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141, T T EEIN A R WA A B, C D

— whom e A | dwEp | wwE c | @wmap

| 35t wttena ® el B 28 23 17 27

e e § St Af P

o e § S 8 14 L 8 13

adanfie wlen § Il dfem A 5

¥ wden # s o ¢ ¢ 9

3t et # St BT 64 [jrh 55 46 76

IS ———- SO SRR
FHATFATAR? )

(A) ST TLETed i HiSAE T H ST W T Tl it i1 Fere |
(B) aTefaTiien wiiam siferh i ot |

(C) e witer siferen shic off |

(D) 2T TETST T SIS T ST G 0T |

A school has four sections A, B, C, D of Class I)é;;tudents.

Result Section /Fn Section B | Section C | Section D

Students failed in both exams 28 29 23 17 27
[
iled in half-yearly but W

Student's failed in half-yearly bu 4 @ 1 g 3
passed in annual exams >

St-uder{ts passed in half-yearly but 6 ‘(zﬁ 17 9 i
failed in annual exams "

Students passed in both exams 64 55 46 76

o examinations based on the number of students

In the context of comparing the difficulty level of the tw
passing, which of the following statements is tru :2}

(A) The two exams cannot be compared for difficulty level.
(B) Half-yearly exams were more difficult. O

(C) Annual exams were more difficult. e

(D) Both the exams had almost the same difﬁc.ilp‘, fevall

142. ﬁmﬁf@aﬁﬂﬁmmmm,maﬂrﬁg%mmaﬁmmmﬂm%?

Which of the following diagrams best indicates tljg)relation between India, Haryana and World ?

W@ }”/@ (©) O (m

---------------------------------------
-------------------------
- -

------------
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pom——— _.—'—-—-—-__} (-L%
_g -5
i %
A —> | 3 / 9
24
(A) 25 (B) 22 _ (D)
Analysing the figure, find how many red objects are 1ot plastic.
A
Red ) 28
gl . T 10T FT I |
144. T i AT A
39 ! : \% o
":}O i %0 (L/
25% :514‘%;3 ® £ [ >
A
o, ‘
25 0% C
' 4" 72
! ."‘1 & D e}
5 B) 30° (B | ) 60 D)
(A) 5 .nele of sectorof coftee.
Study the graph and find the an 0(1:  |
Consumption T Juice (&
25% IEE34% 5
/ Tea
0 "l
2 20%
- Water
D) 72°
(A) 90° (B) 30° | (C) 60° —_____(__) _______________________
"""""""""" R 5 Y P R
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145,

146.

147.

148.

149.

150.

, (
e Rfera e v A, af ws cparpNEr B OZOSMDO” & = i At B s 2, A 5
52 CSEGMENT & o e @ g () RIEGE S EC LS
In a certain code language, if the word --p,\R']‘f\!’ﬁR” is coded as ““OZOSMDO
. PN FRAI A 4 () AISMDOQ™, then what is the code
for the word “'SEGMENT™ in that language 7
o~
- (B) SERBCPT

(AY RDFLDMS
bl
@) (D) TFHNFOU

(C) QWSARTH

2 7 I NTST T ST ; s & g '-
0 Frrfirfae syt B AT TRT, S 4, 0 gy, o, A A,
B L TSI e S R .;
Simplify the following expression using the given code language, where '+’ represents ‘x’, ‘x’ represents 1
-, ‘=" represents ‘+’ and ‘+’ represents 4, -
16x4+4+14-2 )
(A) 28 (B) 40 E"‘} (C) 35 (D) 76
T STTeHT Y I IR F §Y, FHeamit A e, ‘%qgirq’!mﬁ’ttrrgmsarcﬂméa% 1 g8 aTredt el & fohE
TE Hara g ? & =
i
(A) WS (B) i @) (©) vid (D) frar
Pointing to a man, Kalyani said, “His grandson i:s:’phe only son of my brother.” How is the man related to
Kalyani ? ()
(A) Brother (B) Nephew (C) Husband (D) Father
frefefaa e 4, mqﬁﬁqu%wmmwﬁwﬁ%mﬁﬁqw% | 379 & T 1es I [T
w52 ¥ STErl T YA ek Aal ST S HhdT | 39 7758 1 e |
forgT 7T TSR ; “BORMA O
In the following-question, four other words are plovided as alternatives alongside a given word. One of
d using the letters of the given word. Identify that word.

these words cannot be forme

Given word : “FORMATION”. "2
‘ B) MAIO ‘,'“} (C) TRAIN (D) RATIO

o o T S 8 ke S, P TS S 6 o o, fot o TR S et 4 kan el | 36 , I®
%%g%awﬁﬁmmﬁwﬁmﬁﬁw%?

216 ST, 18 kan Tl ST TG SR
(A) I (B) @ © afRor-gd (D) I
hen turned left an‘dl"j started walking 6 km, then she turned right and walked
[n which direction is her

reached her home.

(D) North-East

Seema ran 8 km towards east, t
ht and walked for 18 km and

for 4 km. Finally, she took a rig
tarting point ?

home located with respect to the s
(A) North (B) East (C) South-East

afy w4, 0 & aEiar € 2 awiar 3, o0 @ g § A O ® gl R, A&

30 +(10 5 6\-5% 6’ FTHA TR ?
If “+* represents ‘+’, ‘' represents ‘=, "=’ represents ‘x’, and ‘%’ represents “t’
30+ 10+6~-5%x6""7

() - 10

----------------------

, then what is the value of ,4
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